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Determine whether the relation is a function. Give the domain and range for the relation
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Solution

.

Domain of the relauon s |

he range of the relation s |9 10 11

1< a relation a tunction’
No

Because {or an x-value there corresponds more than one v-value

Find the indicated function values for the function hix)=3xv'+4
Solution
nOY=30y-4-4
-1 3(=1 ) +d=1eg4=?
212y =4-3(4)4=12+4=10
. Lo 4=3(25)44=T5+ 479
h8b)= M8y +4=304D )+ 4= 192b"+4
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a) fA4)=1
by 43
¢) For what v#ie of x 15 AAx)=17 Ans. x=0

1 se the table below to find the indicated function values.

X | _hix)
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by hi2)=2
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9) Use the vertical line test to identify graphs in which y is a function of .
Which of the following statements is correct?

e visa function of x
e visnota function of x

The vertical Tige 1eSt S8utes that 4 iy verucal ling ipfersects & graph in worgihan one poin
then the graph'does not define v.as # fanetion of x

Test the giyven graph by drawing a vertical ling thibughiat thé confégof the circle

This line Amtersects the graph at Esactly twi paints

Therefor& ¥ I8 not a funciion of X,

10) Use the vertienbling o<t 1o determine if v is a function of x in the given graph

Which of the following statements 15 correct? Choose the correct answer below.,
e vy isnot a function of x
e visa function of x
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The vertical line test for functions says if any vertical line imersects a graph in more than one point,
the graph does not define v as a function of x.

Consider several ventical lines drawn along the length of the graph. There 15 no vertical line which
intersects the given graph in more than one point

In this case, no vertical line can be drawn that will imtersect this graph at more than one poant,
Therefore, v 15 a function of x

11) Determine whether the given graph represents a function that has an inverse function,

Droes the given graph'replesent a function that has an inverse function? Choose the correct answer
bl

A, No, the given graph does not represent a function with an inverse function because no
horizontal line can be drawn that intersects the given graph more than once.

B. Yes, the given graph does represent a function with an inverse function because horizomal
lines can be drawn that intersect the given graph more than once,

. Mo, the given graph does not represent a function with an inverse function because honzontal
lines can be drawn that intersect the given graph more than once,

D Yes, the given graph does represent a function with an inverse function becawse no honzontal
line can be dravwn thay intersects the given graph more than once.

Uprin:ln ¥ = cormect
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